SAMPLE QUESTIONS-APTITUDE-EXECUTIVE TRAINEE POST

SL NO |QUESTIONS OPTION 1 OPTION 2 OPTION 3 OPTION 4
1 Identify the option of error in given sentence She is the most prettiest |girl in the colony
2 A place where young plants are raised is called park garden nursery forest

who was awarded by the SKOCH Chief Minister of the year

3 award 2021 ? Jagan Mohan Reddy

Naveen Patnaik

EK Palaniswami

Arjun Munda

The Central Government announced that Netaji Subhash
Chandra Bose's birth anniversary to be celebrated as ..........

4 annually? Himmat Day Bharat Day Prakarm Diwas Military Day
5 Which country has recently issued a 10 lakh note? Denmark Sweden Venezuela Finland
"Believe - What Life and Cricket Taught Me" its an
6 autobiography of which player? Kapil Dev Suresh Raina Sachin Tendulkar [Saurabh Ganguly
7 FIFA world cup 2022 will be held in which country? Russia Spain Ukrain Qatar
8 Noise is measured in which unit? Watt Decimal Pascal Decibel
How many types of ecological pyramids are present in
9 ecosystem? Two Three Four Five
What should come at the place of question mark (?) :- (27)73
10 |+ (973 *81=(3)"?-7+ (9”2 13 11 18 21
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A vendor sells 50 percent of apples he had and throws away
20 percent of the remainder. Next day he sells 60 percent of
the remainder and throws away the rest. What percent of his

11  |apples does the vendor throw ? 26 29 31 23
Three years ago, Poorvi was thrice as old as his sister Reena.
After three years Poorvi will be twice as old as Reena. What is

12 [the present age of Reena? 11 12 9 15
The ratio of the ages of Tina and Rakesh is (9:10)
respectively. Ten years ago the ratio of their ages was (4:5)

13 |respectively. What is the present age of Rakesh? 20 Yr 15 Yr 12 Yr 17 Yr
A shopkeeper sold some articles at Rs.35 per article and
earned a profit of 40%. At what price each article should have

14  |been sold so that 60% profit was earned? 35 25 40 45

15 |5:26::8:7 65 63 61 68

16  |Find the odd number pairs ? 15-19 21-27 9-27 9-12

17 |If 'EVENT' is coded as 54552 then 'REVENGE' is coded as : 9545575 8455753 9845575 8755475
If BACTERIA can be written as ABIARCET then PROTOZOA

18 |can be written as : AROZOTOP ORPTOZOA APORZOOT TOZOAPRO
Rohan started from his school and travelled 3 km towards
South then turned left and travelled 4 km. At what distance is

19  |he now from his school ? 5 km 10 km 25 km 7 km
Three years ago, Poorvi was thrice as old as his sister Reena.
After three years Poorvi will be twice as old as Reena. What is

20 [the present age of Reena? 11 12 9 15

21  |Who was 23rd Chief Election Commissioner of India? Sushil Chandra Sunil Arora Rajiv Kumar YK Sinha
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22 |India ....... freedom in 1947. attains attained has attained was attained
Directions: Select the synonym of the word marked in Bold
letters Que : He was the court appointed lawyer for fifty-six

23 |indigent defendants. Indian men Poor Guilty Untried
Direction: Choose the correct meaning of idioms given in bold
in the sentence Que: We should guard against our green-

24 |eyed friends. Rich Jealous handsome Enthusiastic
Direction: Select most suitable alternative in which conveys |It is the duty of a house-|It is the duty of a |Itis the duty of a [Itis the duty of a
the exact meaning in accordance with correct grammatical wife to wait on the house-wife to wait |house-wife to wait |house-wife to await

25 |rules, Mark the correct sentence. guest. for the guest. the guest. the guest.
Direction: Choose the best alternative to complete the that the weather colder |the weather be the weather was  [the weather it is

26 [sentence  Que: He said: ... than usual colder than usual |colder than usual |colder than usual

27  |The unit of temperature in SI system is ........ccccecvevivenene Degree centigrade Kelvin Degree Celsius Fahrenheit
Which is the least number of 3 digits that is exactly divisible

28 |by 14? 110 98 60 112
HCF and LCM of two numbers are 16 and 240 respectively. If

29 |one of the number is 48, what is the other number? 70 60 80 90
The rainy day occurs once in every 25 days. Half of the rainy
days produce rainbows. What is the percentage of days

30 |having no rainbows? 2 12.5 98 87.5

31 |Which is the one that does not belong to the group? Asia Australia Antarctica Austria

32 |pis six times that of q. By what percentage is q less than p? |500 83.33 5 20
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In 1987, the enrolment in a school was 1500. Next year it

33 |increased by 10%. What was the enrolment in 1988? 1600 1650 1700 1750
There is an increase of 30% in the production of milk
chocolates in Amul Dairy in one month. If now it is 9100 milk

34 |chocolates per month, what was it one month ago? 13000 10300 8400 7000

35 [Which art did Jahangir mainly patronise? Scuplture Architecture Music Painting

36 [The Governor is apponted by the Prime Minister President Chief Minister Chief Justice

37 |India adopted the Five Year Plan from France Former USSR America England

38 [The hottest place in the world is Teheran, Iran Jaisalmer, India Dallol, Ethiopia Azizia, Libya

39 [The well -known Indian cartoonist is Mahmood Ravi Shankar Shankaran R. K. Laxman

Param Vishishta

40 |Which is the highest gallantry award in India? Kirti Chakra Seva Medal Vir Chakra Param Vir Chakra
Directions: Select the synonym of the word marked in Bold
letters Que : He was the court appointed lawyer for fifty-six

41 |indigent defendants. Indian men Poor Guilty Untried
Direction: Choose the one which can be substituted for the
given sentence Que: Code of diplomatic etiquette and

42 |precedence Statesmanship Diplomacy Hierarchy Protocol
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43

Direction: Choose the correct meaning of idioms given in bold
in the sentence Que: We should guard against our green-
eyed friends.

Rich

Jealous

handsome

Enthusiastic

44

Direction: Find out which part of the sentence has an error
and mark that part. If there is no error, mark that part as
your answer.  Que: One of the important benefits (A) of
machine age (B) is that our standard of life has improved. (C)

A

45

Directions: Select the synonym of the word marked in Bold
letters Que : He was the court appointed lawyer for fifty-six
indigent defendants.

Indian men

Poor

Guilty

Untried

46

If SYSTEM is coded as SYSMET and NEARER as AENRER, then
FRACTION will be coded as

CARFNOIT

NOITFRAC

FRACNOIT

CARFTION

47

If 'wall' is called 'window', 'window' is called 'door’, 'door' is
called 'floor', 'floor' is called 'roof', 'roof' is called 'ventilator’,
what will a person stand on?

Window

Wwall

Floor

Roof

48

Series Completion:
5760, 960, ?, 48, 16, 8

120

160

192

240

49

Choose the missing terms out of the given alternatives:
A, CD, GHI, ?, UVWXY

LMNO

MNO

MNOP

NOPQ

50

A can complete a piece of work in 18 days, B in 20 days and C
in 30 days. B and C together start the work and are forced to
leave after 2 days. The time taken by A alone to complete the
remaining work is

10 days

12 days

15 days

16 days
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